Soustraction Avec Un Zéro (G)

Calculez la différence.

300 300 700 600
-99 -21 - 652 - 424
700 200 900 900
- 665 - 158 -753 -411
200 800 200 500
-6 -83 -83 - 277
300 900 800 600
- 252 - 254 - 115 - 160
800 300 600 200
-85 -137 -127 - 160
900 900 700 800
-82 - 671 -10 -101
700 300 900 100
- 314 -23 - 580 -93
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Soustraction Avec Un Zéro (G) Réponses

Calculez la différence.

300 300 700 600
-99 -21 - 652 - 424
201 279 48 176
700 200 900 900
- 665 - 158 -753 -411
35 42 147 489
200 800 200 500
-6 -83 -83 - 277
194 717 117 223
300 900 800 600
- 252 - 254 - 115 - 160
48 646 685 440
800 300 600 200
-85 -137 -127 - 160
715 163 473 40
900 900 700 800
-82 - 671 -10 -101
818 229 690 699
700 300 900 100
- 314 -23 - 580 -93
386 277 320 7
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